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Geography
Paper 11

T

gyutreRt 11
Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

U Sed. Wd U WrE.

The basic goal of Davisian model of
cycle of erosion was ............

(A) To study erosional landforms

(B) To understand climatic changes
in the Earth’s history

(C) To study mode of development
and causes of crustal movement

(D) To  provide systematic
description of landforms and
genetic classification of
landforms

Arrange the landforms on the basis
of their occurences from lowest to the
highest levels :

(1) Sea-cliff

(2) Ridges and runnels
3) Guyot

(4) Abyssal plain
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B G @ @ @
< O 2 3 @
O 1O @ @ O

(A) 8RO YEEUrEl HWH H0

(B) Y= sfaemmdid o™ ocd
HASH B0

(C) Yg=d Ba=eiea daei i &
HRO AT A

(D) &I USAIR Foi T St
FffeRtor QO

TTATd ATHRR AT ATEGSUIATA]
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3.

Match the following and select the

correct answer from the codes given

below :

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

List I
Segment
Element
Convex element
Concave element

List II

A portion of slope on which the
angle remains approximately

same.

An element with downslope

increase in angle.

A portion of slope profile on
which the

approximately remain constant.

curvature

An element with downslope

decrease in angle.

Codes :

(A)
(B)
©)
D)

@ &) © @
o & @ @
4 @ 6 @
@4 & @ @
@ @ @ @
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(c)
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4.

Which of the following is correct
relation about the speed of the

earthquake waves ?
(A) L<S<P
B) S<L<P
(C) P<L<S
D) S<P<L

Which of the following terms is not
applicable to the weathering

process ?

(A) Regolith
(B) Saprolite
(C) Chelation
(D) Slump

The most common and typical

volcanic cone is ..........cee..... .
(A) Composite cone

(B) Caldera

(C) Ash-cone

(D) Lava dome

JUN - 36225/I1—A
WA Yo TR ST 10 Helel
e 3R ?
A L<S<P
B) S<L<?P

(C) P<L<S

D S<P<L
GTACTieh! RO Wl & foramor fshed
AR Bd AR ?

(A) HEER

(B) HreMse

(C) <™

.................. S — .
(A) fas v

(B) WS

(C) YeT-¥TeR

(D) =Rl FH




7.

Assertion (A) : Large avalanches

usually occur on slopes of 30°-50°.

Reason (R) The optimum

condition for geomorphologically

significant avalanche, snow

accumulation are on slope of 30°-50°.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

................... is an anticlinal fold

formed due to intrusion of rocks.
(A) Diapir

(B) Salt plug

(C) Dip

(D) Salt glacier

JUN - 36225/II—A

faam (A) : 910 @Y™ FHRUE: 30°

d 50° SARER 3T@esdTd.

HRUT (R) : JEURTEHEGST Teweyol
qauEEEt, ferg=™ 30° @ 50° =M

SARTER AeRetad afRfEerdt stdd.

Hehdih :

(A) (A) 37for (R) S SRIsR 3figal SATfor
(R) 8 (A) ¥ 9 T 318

(B) (A) 3Tfor (R) S8l sRIeR 31ed Tg

(R) ¥ (A) & 3T TIEIHI0 ATE
(C) (A) T =R 38 T (R) & TH 38

(D) (A) I% 3R W (R) ¥ s 3T

T TAfdeeet i g,
(A) S Fedt

(B) @0l gHe

(C) Afa

(D) <Eur dre
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10.

Which of the following statements
is correct about slopes ?

(I) Weathering controlled slopes
occur where actual rate of
regolith production is less than
the potential rate at which it can
be removed.

(IT) Transport limited slopes are
those on which the rate of
regolith production is greater
than the capacity of transport
processes to remove it.

(A)
(B)
©)

(D) Both statements are incorrect

Only Statement (I) is correct
Only statement (II) is correct

Both statements are correct

Which of the following statements
is incorrect about thermosphere ?

(A) In the
temperature exceeds 1000°C

thermosphere,

(B) Swift-moving thermospheric
gases result in extremely high

temperatures

(C) The air of the thermosphere
possess significant quantity of

heat

(D) Temperature of thermosphere
rises due to absorption of high-

energy solar radiation by atoms

of oxygen and nitrogen

10.
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aV o N bV

SANISSRIT EeileTdeh! Shivld faem I
A ?

1) TR fAfid=n arafas X, due
TAUET ST AT 9 & WH o

cblgd clehel SIS RMehd.

(IT) o1& HEifea SARER geeRo i
T T HRTERUT SHIQUIAT 8 Hfsha=
AU ST 3T

(A) w1 (D) foem A awR

(B) Wl (II) faem amg a1e

(C) Tl faum =g smea

(D) =1 faum s ewmea
TIeAeTish! IV faem  eRafens=
A GRS 2

(A) TEIERTEE argE™ 1000°C U&T
SR 319d

(B) eHifoRsaed S1faam o=
FHIOMAT AHeS AfqSIed  qTIHMA

fomior grd

(C) eRATRHITAL IS JHIT AU
3TEd

(D) S F FFSSToa AU S
oA URURUE ¥oF Shedes
AR AOHAEHE 9@ B
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11. 100° centrigrade temperature is | 11, 100° ¥HIE AYHM HIAGRES THOMNG

equivalent to ................ degree on | ... ferfrem quqed o
Fahrenheit scale.
(A) 212
(A) 212
(B) 32
(B) 32
(C) 232 () 232
(D) 168 (D) 168

12. Which of the following are elements | 12. Wciiciush! hHIUd T g9 2TRd 2

of weather ?

(1) &9 qEHH

(1) Temperature of the air

(2) T A

(2) Humidity of the air
(3) UETSIEA™ YHIUT & YR

(3) Type and amount of cloudiness

(4) =r=grEn S 9 fawm
(4) Speed and direction of the wind.

(A) (1), (2) = (3)
(A) (1), (2) and (3)

(B) (2), (3) and (4) (B) (2), (3) =7fu1 (4)

(C) (1), (2) and (4) (C) (1), (2) = (4)

D) (1), (2), (3) and (4) (D) (1), (2), (3) U (4)
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13.

14.

Assertion (A) : When the southern
oscillation occurs, the pressure over
the eastern and western pacific

flip-flops.

Reason (R) : El Nino event causes
a rise in surface pressure over
western pacific and a decrease in

pressure over the eastern pacific.
Codes :

(A) Both (A) and (R) are correct and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The albedo of which one among the
following is the highest ?

(A) Cumulonimbus cloud
(B) Cirrus cloud
(C) Sand

(D) Melting snow

13.

14.

JUN - 36225/T1—A
faam (A) : Si= <farlt stiEier o
gid, dsar gd erfor 9fy=m gena

HEHFRIGRIE SHRIEE Qe et 2.
HROT (R) : To-THHe df¥=m wemd
RIS AR aTedl 3T gel Jemd
HREIRIE SgHR HHl Brdl.
Hehdich

(A) (A) @i (R) = & SRIeT 37T

s (R) © (A) = 379 fowersm
£

(B) (A) 7o (R) Sl B SRIeR 3TTed
WG (R) ® (A) = 37 feageto el

(C) (A) SR 38 W (R) § TH 3T

D) (A) I T g (R) T SR 3T

WTeATeTeh! 10T Tk TRIadshdl Taid

S 3T ?
(A) gerEwt B
(B) aga=

(C) dMg

(D) fad=umn 9%
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15.

16.

17.

Maximum heat is transported in
Earth’s atmosphere and oceans

through

(A) Conduction
(B) Convection
(C) Radiation
(D) Advection

Which climatic type has no monthly
mean temperatures above the

freezing point of water ?
(A) ET

(B) DFD

(C) DFC

(D) EF

Which of the following atmospheric

condition prevails when

environmental lapse rate is less

than the wet adiabatic lapse rate ?
(A) Absolute stability

(B) Absolute instability

(C) Conditional stability

(D) Conditional instability

15.

16.

17.

JUN - 36225/I1—A
Y= STdIERyl S0 IR ST

(A) =&

(B) 3R
(C) IHsH
(D) 3AfsRHT

HIUTA] TATHM YRR HIEeh  TUE

dT9H qIoaT= Teuifeige o T8d ?
(A) ET
(B) DFD
(C) DFC

(D) EF

YITERUT e &1 378 dT9TEshHl &g
TR HHT STEAT d5&T HIVT ATATERONA
et yafed 19d ?

(A) Ty feemar
(B) e stfeerxan
(C) e feera
(D) ¥ 3AfEerza

10
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18. Assertion (A) : Variations in air | 18, fagm (A) : SIfHHeR go=a1 AIHEMIAA
’i:emperature are much grezjlter over & i S
and than over water bodies.
Reason (R) : Land heats more SHIOT (R) : TMoaTq e STHA Y Bogos.
slowly and cools more slowly than T B e sifuw 'm 9T B
water bodies. °
Codes : Hehdieh
(A) Both (A) and (R) are true and (A) T (A) 3 (R) o7 9% oA (R) ©
(R) is the correct explanation (A) T I TTAETT B
of (A)
(B) Both (A) and (R) are true but (B) I (A) ¥ (R) ST 37ed WG (R)
(R) is not the correct explanation T (AW TgHh TR0 ATal
of (A) .
(C) (A) is true but (R) is false ©) @) e Y R) T T S
(D) (A) is false but (R) is true (D) (A) % e WY (R) € & 3Te
19. Assertion (A) : The age of fossil | 19. & (A) : Sffemew oM =7 wifed
fuels is limited. 379d.
Reason (R) : Fossils were made HIUT (R) : STAH § Had HIa-Thd
only in carboniferous period. FHAESd TIR A BId.
Which one of the following is correct ? elelieh! I S 38 ?
Codes : Thdidh :
(A) Both (A) and (R) are true and (A) (A) 37T (R) Sgdl =IieR 3Ted
(R) is the correct explanation afoT (R) § (A) 3 /9% fawarm
of (A) o
(B) Bot%l (A) and (R) are true 1?ut (B) (A) 3T (R) St sRIeR o g
(R) is not the correct explanation
of (A) (R) ¥ (A) = 3 faversor &
(C) (A) is true but (R) is false (©) (&) TR 3T RY (R) & TH M
(D) (A) is false but (R) is true (D) (A) F & RY (R) ® e
11 =] =]

[=]¥;



20. Which of the following is a correct

option about the surface ocean

currents ?
(1) Pacific Ocean : Irminger current
(2) Indian Ocean : Leeuwin current

(3) Pacific Ocean : Tsushima

current
(4) Atlantic Ocean : Antilles current
(A) (1), (2) and (4)
(B) (1), (2) and (3)
(C) (D), (2), (3) and (4)

(D) (2), (3) and (4)

JUN - 36225/II—A

20. TEedh! HIVAT TAE THS JEid

YaATEeEd € 3R ?

(1) e0d HEEmR : SH=R Fare
(2) fest we@rR : fagfoq wamE

(3) Weld HerR : Rl werg

(4) ST HEEIR : ST=iferd ol
(A) (1), (2) 3mvr (4)

(B) (1), (2) Ao (3)

(C) (1), (2), (3) =fur (4)

(D) (2), (3) =7for (4)

21. As per IPCC ARG synthesis Report, | 21. 3Ta.9L.&1.€. T.a.6 HIAH
global mean sea level increased by STRATATTAR, 1901 SAOT 2018 TTAA
................ between 1901 and 2018. d

el
(A) 0.10 m
(A) 0.10 =t
(B) 0.20 m (B) 0.20 .
(C) 0.30 m (C) 0.30 .
(D) 0.40 m (D) 0.40 =t
12 akd0l
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22.

23.

................. is the most abundant
component of seawater, which has

maximum residence time.
(A) Lithium

(B) Sodium

(C) Chloride

(D) Aluminum

List of Sea water layers (List-I) and
the density (List-II) are given below.
Match the List-I and List-II and

23.

JUN - 36225/II—A

B HHS=A AT Felia
Helcteh 3Tl 2ok 3718 foh < e
IR TG S 2T

(A) fofeaaw

(B) wifeaw

(C) =N

(D) Sfegfafm

TSI qroare o) At (At 1)

g = T (AET 1) feetedt TR, At
I 3 3El 11 o o7 el feeien

select the correct answer from the HehdihTd Y 3T Ity e < ST L.
codes given below : a1
List I
' (@) ®EH R
(a) Photic layer
(b) UREHIEFAET AL
(b) Pycnocline layer
(c) T/ Hqsa R
(¢) Deep/bottom layer art
II
List II
: . . (@) i A AR
(z) Sharp density gradient
(z1) Highest density (i) WA A SN
(zi1) Lowest density. (iid) WA FHI A
Codes : Hehdleh
(@) ®) () (@) ®) (©
A @G) (iif) (ii) A @ (ii1) @i1)
(B) @) @) (t11) B) @) @) (i17)
(C) (@) @) (i1) (C) ) @) @i1)
D) @ (1) (u11) D) @ (i) (i17)
13 [=]+ =]
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24.

25.

Which of the following Biome
influenced by dry summer and wet

winter ?

(A) Mediterranean Biome

(B) Savanna Biome

(C) Boreal Forest Biome

(D) Temperate Grassland Biome

Assertion (A) : According to IPCC
6th assessment report, if the
temperature rise passes 1.5°C, entire
ecosystem in polar, coastal and

mountain region will be forever lost.

Reason (R) : The consistent
emission of greenhouse gases leads
to increase in the intensity of

greenhouse effect.
Codes :

(A) Both (A) and (R) are true and
(R)
justification of (A)

is associated with

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

24.

25.

JUN - 36225/II—A

WeATAdeh! AT IEH hRST SaTedl
o o1g feamear e guifaa &l ?

(A) yH= AR S

(B) 9l ST

(C) sifteTd STl =M

(D) HHIASI TEdles STEH

faeam (A) : IPCC) . 4i.€gt=
63T YeToh STEATATTHR ST AT9HH 1.5°
Here=a q¢ Tl W g, fRamag! s
e YouIel HYU qREEen Rt
T BEA.

HIOT (R) : SRATE SR FAc@™ 2o
IS B BRAE gHETE e aredd.

Hehdiah :
(A) T (A) 9 (R) & SR 3ARd 3Tfor
(R) ¥ (A) ¥ 3T TIRIHI T

(B) S8 (A) 9 (R) § SeR 3TRd 4L
(R) ¥ (A) & 3T TIEIRI0 ATEr

(C) (A) T 9% g (R) T R 3T

(D) (A) & sk Wg (R) & I R

14
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26. Identify incorrect option from the | 26 AL e Tttty S
following about IPCC : ERICECClele

(A) It is UN body for assessing (A) TIMH ST ToaEE ‘j\inh'-l
science of climate change FITAETS! & G Te AT 3T

(B) It was .set up by WMO and (B) & 1988 W WMO aTftr UNEP
UNEP in 1988 o i FA A

(C) IPCC means ‘Intergovern-

. : (C) AT E. WU garHI
mental parties on climate .. .
change TEATHH AR J&

(D) According to 6th Assessment (D) sl =1 6 s wlie
report of the IPCC more finance STRATCTTHR BAHM Sic el 3TIehet =l
is needed to scale solution on IUIEIS 3Tfes ASHRR—ART TS
adaption to climate change 3Te

27. Match the List-1 and List-1I and | 97 o} 195} 11 oo Siesn Seogq @refiad

select the correct answer from the {ie@diqﬂq\ﬂ G gatg feer .

codes given below : T 1

List I . (et TET)
(Plant Community) (@ wE e =R

(a) Largest trees (b) IS R

© Hoh layer @ Sl Frerdra o

(d) Moss layer (@) u':'l?ﬁ -

List II
(Layers) (er)

(1) Fourth layer (1) e o’

(2) Third layer 2) foww =

(3) Second layer (3) THU =R

(4) Dominant layer (‘%) W Rl

Codes : Hendich :

@ b)) © @ (@ ®) (©© (@

A 2 @ 3 @ A 2 @ & @

B @ @O @ O B @ @ @ O

©C @ B @ @ e @ B3 @ @

O 3 2 @ @ D B3 @2 @ @

15 =14 [=



28.

29.

Lightning plays important role in

(A) Oxygen

(B) Nitrogen

(C) Carbon

(D) Phosphorous

Arrange in ascending order of
different levels of organisation in

ecology of the Earth.

(A) Population—-Community-—

Ecosystem—Biome

(B) Community—Population—

Ecosystem—Biome

(C) Biome—Ecosystem—Population—

Community

(D) Population—-Community—Biome

—Ecosystem

29.

JUN - 36225/II—A

(A) 9roTET

(B) TR
(C) e

(D) HIEhRY

gesite uRfEerdisridia fafasa g™

T W el HHM HISU .

(A) THEEIT—FHITT— a1 —

Elpie

(B) 9 —W1HE &dT— g eer—

ElRi

(C) sREm—aREe— e — e

(D) ThEEA— S — SRH— R

16
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30.

Which of the following statements

is correct about Kyoto Protocol ?

(@) Kyoto Protocol was adopted in
December 1995 and came into

force on February 2007.

(b) Limit and reduce greenhouse
gases emission in accordance

with agreed individual targets.

(¢) It is based on principle of
common but differentiated
responsibility and respective

capabilities.

Find out correct option :

(A) (@) only

(B) (a) and (b) only

(C) (b) and (c) only

(D) (a), (b) and (c)

JUN - 36225/II—A

30. R WRrkIa Hewia |etial 3T faum

HIUd 3R ?

(@) F& W fedsk 1995 A&l
RRA WG Hgari 2007 T

AT 3Tl

(b) T Hoedl dafee ALATIHER
FRATE A st Haitea sfor wHt

< .

() TUM a Wy i SRt smfor

I T e
(A) ®H (a)

(B) ®K (a) T (b)
(C) w (b) A (c)

D) (@), (b) 9 (c)

17



JUN - 36225/II—A

[=]
31. The main contributors of acid rain | 31. JTFAYSTATHE ATEE IR IHE
are : uTh § AR :
(A) Oxides of sulphur and Carbon (A) TEw T e st g
oxides 5
_ (B) 9¢HI ATFTRE 0T AT
(B) Oxides of Nitrogen and Oxides . a
Sfledlgsd] A
of Sulphur
(C) Carbon dioxide and Carbon (C) el @Té:[:a:r[
monoxide gz dl 91
(D) Oxides of Nitrogen and Carbon (D) TS STt o T
oxides HFEET W
32. The concept of carbon trading | 32. WWW """"""" T 3L~
initiated during the ..........cccceunne. T g T & @eh.
International treaty.
(A) R FIR THS
(A) Kyoto Protocol
FEle ST
(B) Brundtland Commission (B) N
(C) Paris Agreement (C) ARH W
(D) Agenda 21 (D) ewter 21
33. The technology which meets the | 33. wiveq fashmar=n e qui H0a™ S
sustainable development needs is RERIG! T A g 3T IYA
often referred as .................. .
(A) Advanced technology (A) WG dIE
(B) Appropriate technology (B) gardg doeH
(C) Sustainable technology (C) 3Tvad dIE
D) Adaptive technology (D) H*—Ilq\llr\vld (-1.>|§-||'-|
18 [=] 4 =]
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34. Match List-I with List-IT and select

the correct option from the codes

given below :

(a)
)
(c)
(d)

(1)

(2)

3)

(4)

List 1

(Urban Phenomena)

Umland
Conurbation
Rurban fringe
Suburban

List II

(Characteristics)

A city area as a circumferential
belt of mixed rural urban
landuse and manifests strong
interaction.
Surrounding of urban centre
which is economically, socially
and culturally linked with city.
Settlements develop with
expansion but have separate
administrative identities.
Polynuclear physical continuity
but singular administrative and

functional characteristics.

Codes :

(@ b)) ©© @
Aa & @ @O @
B 2 @ @O O
< @ @O 3 @
D @2 @ @ A

JUN - 36225/II—A

34. IEH-1 9 ARI-11 F/=A1 Siedl Sjeead @retia
Hehdlehiqd ard i faer

(@)
)
(c)
)

(1)

2

3)

(4)

et 1
(TR =)

TS
TETE
HTOT-ATRT FehaoT
ITTR

RIC |

(TroTerd)
g gt FERT S SR
TIEE 92T WU el &5 fa=R
B SR FaY A Tehe
Brard.
AR e URER S st
qrATfSeRgseal, WiTHTamg s
YRR SSelell 38
TR o fasmfad 2omr wg
AT el YRHeh1T 3Testl 3THd.
Sgehgah! Aifersh e T Thdl
YTTHeh T & ShHTfcHeh YT ST

T

Hehdleh

(@ @) @© @
Aa 6 @ @O @
B 2 @ @O O
© @ O @ @
O 2 1O @ 3

19



35. Match the following List-I with

List-IT and select the correct answer

from the codes given below :

(@)
)
(c)
(d)

@)

(@)
(i)

(@)

List I
(Transition)
High stationary stage
Early expanding stage
Late expanding stage
Low stationary stage
List II
(Descriptions)

High birth rate but declining
death rate.

Low birth and death rates.

Declining birth rate but rapidly

declining death rate

High birth and death rates.

Codes :

(A)
(B)
()
(D)

(@ @) (©
@ @) @)
@ @) (Qv)
(v) @ @)
(v) @ @

(d)
(iv)
(i7)
(i7)
273)

JUN - 36225/II—A

35. IRI-1 9 ARI-IT Fr= Siredl Jeoed @eiiel

Gehdiwlqd arg wag freer
EIC |
(HerHuTTearEe)
(@) <=a TR syeree
(b) Wt faeR sfeen
(c) S forEr sfareen
(d) s feer sfereen
et 11
(o)
(i) =9 TG TG JoIeL AT B 3

(i) HH TR 9 I

(i) STHIGX AT BIA 3T TG FIaL I
FHH B 3T

(iv) =4 ST 30T JogeL

Hehdih :

(@ B @© @
A @ @G @) Go)
B) @ G @) @@
© @ O @) @)
D) @) G @ G@0)

20



[=] 35 =]
o JUN - 36225/I1—A

36. Match List-I with List-II and select | gg o1 aqfor o1 gefter Sesn ezl

the correct option from the codes

st erelial feeiean SehdieiA ST

given below : .
List I :
(Settlement type)
(T UHR)
(@) Linear
(@) T
(b) Dispersed
b
(¢) Nucleated compart ®) fogfa
(d) Star shaped (c) whigd HerM
List II (d) Rt
(Description) arer 11
(1) Settlements arranged along a (aui=)

transportation route. 1)

TR HITeR STl i
(2) wHH TAGER foeRerelt ot

(3) weA fogurgA smRdel SIS THietel]
Ersl

(4) 9oF 9 &g ShgSae SEeel Il

(2) Scattered with low density.

(3) Radiating outward from a

central point.

(4) Compact and closely built with

a clear centre.

Codes : Hehleh :
(@ ®) @© (@ (@ ®) (©© (@
A O 6 @2 @ A @O G @2 @
B @ O @ O B 2 @O @ O
¢ O @ @ 3 ©c @O @2 @ 3
D 2 @ @) @ D ©2 @ @) @
21 [=] % [=]
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37.

38.

39.

Assertion (A) : Population policies
in developed countries primarily
focus on increasing birth rates.

Reason (R) : Developed countries
face challenges due to low or
stationary birth rate.

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©
(D)

Which is not the measure of internal
migration ?

(A) Natural growth rate method
(B) Residual method
(C) Survival rate method

(D) Net migration rate

Which among the following state has
higher density of rural settlement in
India ?

(A) Bihar

(B) Uttar Pradesh
(C) Meghalaya
(D) Odisha

37.

38.

39.

JUN - 36225/1T—A
faeam (A) : farfad Svmea dRaeE

0 § YHEAN SIeY defauare. aial

higd HIaw.
: T fopan feeR S HeIes
faefaq qemaT STegmMT=El HHAT AT

(A) T (A) 9 (R) 319 3°H (R) ©
(A) 9 IMT TERTT AR

(B) TI=I (A) 3 (R) 3T Ted g (R)
T (A) T TgH TR AT

(C) (A) 3% 38 W (R) & I% e
(D) (A) =% 3 g (R) © 3EH 3R
TTATATeh! ShIvId STATId CLCTaRT HISTITY
TR ?

(A) “9fiw 96 T T5d

(B) 3faf¥re ugd

(C) Scaisiifaee g Jgd

(D) Treg9@ T <X

YTl @A TeTdeh! ShiuTedT TodTd ATHI0T

T Al AR MY ?
(A) foeR

(B) SR

(C) Hemer™

(D) enfssm
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40. Which is not part of National | 40. YRAM=AT UK ARHEAT SR 2000 =
Population policy of India 2000 ? HIOE W AR ?

(A) Reduce IMR to below 30 per .
1000 births (A) IMR 9fd 1000 SFHMM 30 Ta
(B) Reduce maternal mortality HHT B0
i‘atiok;co l;lelow 100 per 1,00,000 (B) Il T W Wi 1,00,000 S
ive birt. A 70
(C) Achieve 80 percent institutional 100 e i
delivery (C) 80 ToFh HEATHS YA A& FHI0I
(D) Cover 80 percent school going ; .
children for nutritional D) g_g[d% 3 A
supplementation ‘

41. When was the first National Sample | 41. ¥RAKiiel AR SFReA ATh sfeam et
survey carried out by the Registrar T T HAU hegl el ?
General of India, in India ? (A) 1953 — 54
(A) 1953 - 54 (B) 1950 - 51
(B) 1950 = 51 (C) 1952 - 53
(C) 1952 — 53 D) 1951 — 52
(D) 1951 — 52 B )

42. Select the correct option for the | 42. Teld farerTe gema s 7o fee
statement given below : st feerdtt g
Situation in Geography :

(A) Indicates the geographical (A) 9rifersk Hifgdt I & 78 o
address expressed in latitude WA= gRSSifael S
and longitude s - -

(B) Concerns physical and cultural (B) STEs e & Wpldsh 9
conditions over a much wider TiEhfae Fedish wafeaa o/d
area .

S %] Tohall Il 3T@esd M= T

(C) Reflects the place where an © L
object or settlement is situated e Hd

D) Isl con}clembed Wit; uthe (D) Mo o 1 = ST
relationship between dwellin ..

: b e 5 Haumesft frifed s
and its surrounding settlements
23 =] =]
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43.

45.

Which model of migration suggests
that the distance and size of
populations determine the volume
and direction of migration flows
between places ?

(A) Push-pull model

(B) Lee’s migration model

(C) Gravity model

(D) Zelinsky’s migration model
What is the primary aim of measuring
agricultural productivity ?

(A) Economic disparities

(B) Cultural preservation

(C) Rational land use planning
(D) Urbanization

The All India Soil and Land use
Survey Organization (1970) has
identified ...................
capability classes in India.
(A) Eight

(B) Nine

(C) Ten

(D) Five

43.

44.

45.

JUN - 36225/II—A

FAX F THGEAT TR, TATAL]
TR g g fogn i@ @
T HIRA AR TEUHE gied hal
e ?

(A) THA-3TE &y

(B) ¥ TR W&

(C) e &g

(D) YAl AME TIATR HHHAT Y&

S IcAChHA HISToATe Tafieh e
;e ?

(A) e fasma

(B) wiEhfds daeH

(C) A A= dhgls A

(D) re{ishiun

FfEe aRd™ Je1 Ao ot IS
T e (1970) I HWHAWA
IH STASH A e 3ol e

(A) 373
(B) ™=
(C) T=r

(D) 9=
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46.

47.

Match the List-I (Types of industries
on the basis of source of raw
material) with List-II (Industries)
and select the correct answer from
the given codes :

List I
(@) Agro-based industries
b)
(c)
d)

Mineral based industries
Pastoral based industries
Forest based industries
List II

(1) Cement industries
(2)
(3)
4)

Dairy
Cotton textile
Paper-cardboard.

Codes :
(@ b)) ©© (@
A @2 @O @ G
B @ @O @ @
€ & @O 2 @
O O 2 G @
Allen Pred published his theory
entitled “................. ?,in 1967, in

which he devised a behavioural
matrix to illustrate an analysis of
industrial decisions.

(A) Geography of Human Behaviour

46.

47.

JUN - 36225/II—A

AE-] (oA A=A G STER
IS YhR) S ACEH-IT (3
feorett oTA, ai-1 9 ART-11 9= Sireen
S TIee Hohdishd qa 93t
ferer ¢

(a)

)

(c) URERY e IS

(d) =7 sHfid 3Iem
It 11
(3Z)

e 3

[RLIE L

(3) Hdt wraS/aEH

(4) HFE-Y33A

Hehdieh :

(@)

A @)

B) 4

e 3 O @ @

® 1 @ 6 @

Ted U A 1967 T
e SATIe FHGTd JRIRT shall, Same
A STt ot faves T
FOIEE! T TH TR hel.

(A) 9El A

(1)
(2)

)
(1)
(1)

(c)
4)
(2)

(d)
3)
3

(B) Human Geography and (B) N
Behaviour e
(C) Behaviour and Location (©) US|
(D) Location and Behaviour (D) T Ao A
25 aki0]



48. Match List-I (Major Manufacturing

Region) with List-II (Industrial
Concentrations/Belts/Districts) and

select the correct answer from the

JUN - 36225/II—A

48. G-I (Y@ IORH URI) T A1

(et S/ qeer/fNesr) =
b|d<>|')|“°<‘|| qY SISl el 9 {QIIQ'IAIN

fqoied HehdlhIqd 3T Hehd [1ael :

codes given below : IJrar 1
List I (YHE AR W9
(Major Manufacturing Regions)
. (@ o e
(a) Eastern Asia
(b) Eastern Europe (®) T 7

(c) Ufv=w & He" I

(d) gata STa- ST

(¢c) Western and Central Europe

(d) Eastern Anglo-America

List II
et 11
(Industrial Concentrations/Belts/ )
Districts) (312 : [AEET/TSTeRT)
(1) Moscow-Ivanovo-Gorky-Tula (1) HIERI-ZemHeN-Th-qeT Fasl
region (2) FEA WW
(2) Kwanto region (3) ST T HEAN S STAUTE=1
(3) The north-eastern part of the T
United States and adjacent .
, (4) THIM YW
section
i

(4) Lancashire region
Codes : (@ b)) (©
(@ ®) @ (@ A 2 O @ 3
A) (2 1 4 3
B @ D@6 B) G @ @O @
B G @ @O @
© B @ @ @ © @B @ @
O @ @O Q) @ M @ @O @) (@)
26 [=] 5 [=]
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49. Select the correct chronological order 49. T SMfdeh T e e
of the establishment of the Global HAH WU Y
Economic Blocks :
(A) NAFTA—-EU—-ASEAN
(A) NAFTA—-EU—->ASEAN
(B) EU-NAFTA—-ASEAN
(B) EU-NAFTA—->ASEAN
(C) EU-ASEAN->NAFTA (€©) EU-ASEAN-NAFTA
(D) ASEAN—-EU—-NAFTA (D) ASEAN-EU—-NAFTA
50. The dependency theory of | 50, stfaewmr=a stacaAT=a fagia AR
underdevelopment posits that srferenfa gew gieoy TR
underdeveloped regions are N
exploited by ................
(A) Ui gqw
(A) Peripheral regions
(B) Global Economic Blocks (B) e
(C) Core regions (C) &g ow
(D) Functional regions (D) HEcHE: YW
51. Regional disparities in economic 51. = faeEe TR fasmar e
development may result from ........ . FROGS B T
(A) Balanced growth strategies (A) E’g’rﬂﬂ T H
(B) Strict physical boundaries (B) FI/FEHR sifgs g
(C) Homogeneous cultural practices (C) THEY HHaF Tgdl
(D) Core-periphery relationship (D) FZ-ufEh Tae
27 Okd0]
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52. Match the List I (Agricultural 52. FRKL e (P SREHA TH) 01

Productivity Components) with

List-II (Influence), and select the

TR 7 @ () el et A
T AEH-11 Hefiet e Sesan S0 eitel

correct answer from the codes given fedear  dahaisd WA IW
below : IREEIE
List 1 'q'm'} I
(Agricultural Productivity (FH AT TEH)
Components)
(@) @i w2
(@) Natural factors
() Human interventions b) Sk
(¢) Market forces (¢) SN IR
List II It 11
(Influence) ( )
(1) Price fluctuations ,
(1) forada Tesdr

(2) Weather variations

(3) Irrigation and technology

(2) BIAMMEA ®leh

adoption. (3) fo== sufor dammEn STacs.
Codes : HhdiF
(@ b)) (©

A @ 8 @
B B @ @
© O @ O

(D) None of the above

(@ G (o
A @2 6 @
B @ @ @
e O @ O

(D) =cde! HIoCEl el

28
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53.

54.

According to the Francis Perroux

the concept of ‘Growth Pole’” refers

(A) The growth of the urban centres

are spread from the CBD zone

(B) Growth is not ubiquition, rather
it occurs at poles, centres and

points with variable intensities

(C) Growth is only associated with

management and monitoring

(D) Growth of any economical hub
is related to the decision-

making by central authority

Which transport costs represent the
cost of equipment involved such as
terminal facilities, ships or railway

track, repair shops and offices ?
(A) Line-haul costs

(B) Overhead costs

(C) Commodity costs

(D) Transfer costs

53.

54.

JUN - 36225/II—A

WG W= 7d Wy 9’ &/

TeheUdl Eetelieht el feell 318 :
(A) AT H =T oAt ELST.ET.
[ERIRIEIE GRCREG]

(B) daIe & gt A&, W < AR,
Bl

(C) 9@ hdes HALT AT

(D) FITAES Mo gt e He
yrfereRoTe fotmelt wefed sred

=t gfaen, st fran Ied 3, gedt

M ST FHRES AHREAT STV

AqEgH T RV fhAq g ?

(A) IE-YEn T

(B) =@

(C) =& T

(D) B0 T

29
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55.

56.

57.

Which approach in agriculture
geography studies commodity as a

‘unified whole’ ?

(A) Regional Approach

(B) Commodity Approach

(C) Deterministic Approach

(D) Transdisciplinary Approach

Farmers who combine the running
of a smallholding with a full-time job

in a nearby urban centres are called

(A) ‘50’ clock farmers
(B) Tenant farmers
(C) Freetime farmers
(D) Full time farmers

State of equilibrium between the
population and the resources is

called as ......ccc.uee...e.
(A) Over-population
(B) Under-population
(C) Optimum population

(D) Optional population

55.

56.

57.

JUN - 36225/TI—A
FE AT IR TSI &
T FYOl THET ' UM A HL ?
(A) gRferes gftesh/foememn
(B) 9% gfteshH/fa=meam
(C) TreagamE gfteshi/ foemem

(D) STRMEAH gftehlH/foamem

SRRt ST AR ShaT=a HIY ST T8
SRR YASTTHATHES Ui ded A1kl
oot T T T e N
" S

(A) 9d: TR

(B) Hredwl Fwh

o

(C) Hrhosdes IRl
(D) quida Tkl

(A) THYF ARgE
(B) SUt oAreRdE

(C) T AThEEA

(D) Sehfcdeh cTehEE
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58.

59.

Assertion (A) : Countries based on
dissimilar religions formations
would eventually confront each
other in situations of war in a

attempt to subjugate each other.

Reason (R) : Theocratic countries

generally get involved in crusades.
Which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The ancient hunters and food-
gathers organised themselves in

groups based on what principle ?
(A) Economic

(B) Political

(C) Extended kinship

(D) Natural production

58.

59.

JUN - 36225/11—A
faam (A) : fa= anfifer Eeer sanfid
T T ST Uit TR

YT HLTIFIT YIS ThHhAT fedid.

SHRUT (R) : SYORRMMEA ST HHM:
YIS A B,

TIEAUsh! I SHe 3T 7
ebdleh

(A) 37U (R) 1 &1 sIeR AT Arfor
(R) ¥ (A) = o9k fawamm a1

(A)

(B) (A) 37T (R) TIEIeT ISR 318 W

(R) § (A) 9 319 fowersor At

(C) (A) SR 38 W (R) § TH 3T

D) (A) I 3% g (R) T IR 3T

W hiedriel fRIehR & 371 TMedl SHIuR
TR FEeA I qRaTek STHRa 2
3 ?

(A) e

(B) TSt

(C) fowaifii@ Araway

(D) TR 3

31
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60. C.O. Sauer, one of the leading

geographer associated with which of
the following school ?
(A) Chicago school
(B) Berkeley school
(C) Montana school
(D) Los Angeles school

61. Of the four language families in
India, which one is the most diverse
in terms of number of languages ?
(A) Tibeto-Burman
(B) Austro-Asiatic
(C) Dravidia
(D) Indo-Aryan

62. e, is the study of causes and
effects of the interaction between a
group (society) and its environment.
(A) Autoecology
(B) Cultural Ecology
(C) Cultural Matrix
(D) Behavioural Area

63. Drawing constituency boundaries in
such a way as to maximize the
electoral impact of support for one
party of the cost of its rival is called
aS ceerrereeeenens .
(A) Malapportionment
(B) Gerrymandering
(C) Booth capturing
(D) Force voting

60.

61.

62.

63.

JUN - 36225/II—A

e, wret wrdAtad®l w1
foraRUIeiTelt Fafed ST e R
e ?

(A) TR femmyomedt

(B) sl faamyorett

(C) A=l fo=myomet

(D) e o™ feramyoredt

TRATATA FR TSR IO ST
HEI= dEda gard dfgeagul e ?
(A) faed-=¢7

(B) sireI-anfyrncien

(C) Sl

(D) TSI-3RH

TREAUATEIES ST fHeaeues qiomd
ST STEd HITATHTS  STTMIHRNR
RTCE TS S S e T
TEUTTA.

(A) HATASTURTHE

(B) RHTedm

(C) 99 FH=ERT

(D) 9H HAdSH 0l
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64.

65.

66.

Which type of the boundaries are
predominant in most of the states
of U.S.A. and countries of Northern

Africa ?

(A) Subsequent boundaries
(B) Geometric boundaries
(C) Antecedant boundaries

(D) Anthropogenic boundaries

Who used Darwin’s theory of

evolution to study the state as an
organism ?

(A) Blache

(B) Hettner

(C) Mackinder

(D) Ratzel

Truce-line boundaries belong to

which type of boundaries ?
(A) Antecedent boundaries
(B) Subsequent boundaries
(C) Superimposed boundaries

(D) Relict boundaries

64.

65.

66.

JUN - 36225/II—A

YT T S I ARk SIMHE

Il Geh=AT HIHT YHEA 3Ted ?

(A) Tadt G

(B) wfrira <

(C) gelartt &

(D) HHatEd g

T T GSid AR A1 kA
SIS SIfoT=a1 Seshidl  TEgrarsn
YR IV Bden ?

(A) AT
(B) &R
(C) HahieX

(D) Y=

TE—HTHT IO TRV HHT TehReh Fafed
e ?

(A) geferdt €t

(B) e €

(C) FreArfud HiH

(D) TeRTel HrA
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67.

68.

The Schaefer-Hartshorne debate of

the 1950s brought about

a distinctive shift in emphasis

from ........ .

(A) Areal integrations to spatial
integration

(B) Physical geography to human

geography

(®)

Neo-determinism to possibilism

(D) Humanism to radicalism
Which of the following is mainly
concerned with description and
literal reconstruction with a view to
revealing the self-evident meaning
of the environment to the decision-
makers ?

(A) Behavioural Geography

(B) Humanistic Geography

(C) Structuralism

(D) Postivism

67.

68.

JUN - 36225/II—A

1950 =1 R 9 BRI A=A

ARG I §gIqA e

(A) &31F THIHIOT d ATHIITH

TH AR
(B) Wikfdsr ol d |l e
(C) TafTe=aaEE 4 Haadere

(D) HESAERE o AW YRerers
WTATeTYeh! ShIUTT TaF 90 ST fegeh

TEelt Gafya o s FofEeRcrd

qIeROET WIeqse 318 Yehe e ?
(A) SATCHR e

(B) AHed@ER! i

(C) HTEAER

(D) JIIae
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69.

70.

Match the name of the geographers

(List-I) with the terms (List-II)
selecting the correct answer from the
given codes :

List I
(@) Eratosthenes
®)
(¢) George Gerland
(d) Schaefer

List II

Carl Sauer

@)
(t1) Geography as Geophysics

Normative approach

(i11) Earths Circumference
(tv) The Morphology of Landcape
Codes :

(@ B © (@
(A) @) Gv) @ @)
B) Gv) G @ )
C) @ @ @) (o)
D) @) G @) @)

Which civilization made significant
contributions to geography through
their advancements in cartography,
navigation and astronomy ?

(A) Indian
(B) Roman
(C) Arab

(D) Chinese

69.

70.

JUN - 36225/I1—A
(A1) spirerastet e At (A-11)

~ . faY N A La
Alcledl AR sllel vjood A el

Hehdlehlqd oT9% I waE faer .
B

(@) sERAMH

(b) T |

(¢) S IReive

d) T

RIC |

(i) WMl SUNH
(i) YT oS i
(iii) geeit=n e
(iv) YSeIE ®ieht
Hehdiah :

(@) ()
(A) @) @Gv)
(B) Gv) @)
© @ GG GG (o)
D) @) GG Gv) @)
RV HERAH Yaded Y
TRTIENES, AIHTIT d NS
AT Hew@qol areH fear 2
(A) YRd=
(B) T
(C) I«
D) Tt

(c)
()
@

(d)
@
(i)
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71. Assertion (A) : The impact of

Darwinian theory on geographical
thought led to a paradigm shift by
emphasizing on the evolution of

landscapes.

Reason (R) : Darwinian theory
introduced the concept of neo-

determinism.
Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JUN - 36225/II—A

71. fagm (A) : Ao faemaReR <ifoq

e fagTarEn g9a uee S JgvarE

SERIER R U I8d JaHH ogd

Tefouare HRUYd el

FHIUT (R) : <ifoq=a fggiam we-

ENERRICIHES] Theq ] e e

feet.

TIEAedeh] IO Tehd T TS ?

Hehdiah :

(A) T (A) T (R) IR 37ed 9 (R)
T (A) o TgH TS S

(B) Tt (A) @ (R) IR 3Ted g (R)

B (A) 9 Tk TR AR
(C) (A)® s 318 WG (R) ® I 318

(D) (A) T IF 3% W (R) T TR 3¢
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72,

73.

Assertion (A) : Blache was opposed
to the concept of dichotomy between
natural and cultural aspects of
geography.

Reason (R) : Blache was drawn to
Ratzel’s concern with geographical
distribution of Man, and the role of
migration (and inherited traits) in

mans adjustment to nature.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

The behavioural perspective in
geography often draws insights

from ......coceeenne .

(A) Economic theories

(B) Political theories

(C) Environmental theories

(D) Psychological theories

72.

73.

JUN - 36225/II—A

e (A) : s FHT sEediel Trehfeh
9 Giehfas gaae™ fade s

THROT (R) : {2 = Hiar= drifeieh
foaromelt & FremRit AHeT=n FeRsEda
TR YfHeRt (3o area fHeretedt
SRTSRI) AR AR A AYd e

Hehdich :
(A) T8I (A) 9 (R) SRR 3Ted o (R)

7 (A) 9 T TR 3R

(B) T (A) 9 (R) SsR 3Ted og (R)
T (A) T ITEH TR AT

(€) (A) % 9% T3 T (R) ¥ a0R 313

(D) (A) T SR 378 901 (R) T I 3TR

Irrdrd gdaAredess gt el
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74. Dualism between physical and | 74. Uikfds d AMet e G
human is related to the distinction Tt Yeren ffed e
between ................. . e
(A) Natural and cultural landscape @) i = &
(B) Environmental and economic (B) wafeofta o ik wewh
factors (C) 9{{3’5& ERCICIE
(C) Landforms and Climate D) PRl 3 @i @
(D) Absolute and Relative location
75. Which geographical perspective | 75 Fiorar dimifas gfsewta faitero
emphasizes the objective study of WHWWHW W
observable facts and seeks to il @ g smfqeer e %‘1
discover universal laws governing AHITA HSAfAE 9y a2
spatial patterns ? (A) HHadES
(A) Humanism (B) WHLEE
(B) Positivism ©) ¥
(C) Structuralism
(D) Behaviouralism (D) R
76. Major contributions of Alexander 76. SIS S Tl AT IRl &
Van Humboldt was in which field ? WT”Q AR HE 2
(A) Environmental Determinism (A) FAfeRv frR=aamER
(B) Earth Science (B) -fa=m
(C) Life Science (C) Sfta-fort
(D) Cartography (D) SRR
77. The alternative hypothesis is also | 77. T Telehters = PEREEEE]
known as the .................... hypothesis. FRUTAId.
(A) Null (A) IFad
(B) Research (B) GMeA
(C) Elective (C) frarseten
(D) Optional (D) T
38 [=] 5 [=]
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78.

79.

80.

Which of the following statements

are not true ?

(A) Mean > Median > Mode implies

a positively skewed distribution

(B) Mean < Median < Mode implies
a negatively skewed
distribution

(C) Mode > Median > Mean implies

a positively skewed distribution

(D) Mean = Median = Mode implies

a positively skewed distribution
The RADAR, LIDAR and SONAR

are examples of ...................

(A) Passive Remote Sensing
Sensors
(B) Active Remote Sensing Sensors

©
D)

Polar Satellite Launch Vehicle

Geostationary Satellite Launch
Vehicle

The dimension and number of
specific wavelength intervals in the
electromagnetic spectrum to which
a sensor is sensitive are known as

resolution.

(A) Spectral
(B) Spatial

(C) Temporal
(D) Radiometric

78.

79.

80.

JUN - 36225/I1—A

TrATAueh! HIU fI9M o a8 2

(A) TUEH > AR > 9gA® © UAHHR
fommaa foao gfaa &

(B) T < HEAT < AgeTeh © RUMHS
fommaa fomor gfaa #a

(C) Jgsh > HEM > W § &S
fommaa foao gfaa &

(D) TERT = UL = Ik § THE
foormaer faawor gfeq s

(A) 3TEfRT T Hagd HaAgHh

(B) Hfsha WY HogT Hoeh

(C) gaa 3IUUT Y&USh e
(D) Yfeer IUUg g&uw e

HeAEauEl g o e saraed

ok HaeaYld STHAId Tl

o 3™ .
(A) Fofueeta
(B) sAfwarsia
(C) hfeteh (TcqLd)
(D) UeeTien
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81. Satellite images are geometrically | 81. STUE Wfemme He AifHfrsh
distorted because of ............ fasdt I
(1) Change in altitude (1) S 9ga
(2) Change in attitude (2) Teerdidia scd
(3) Change in sensor ability (3) HoTHTAT A sga
(4) Malfunctioning of sensor (4) GATHM IR HE FH
(A) (1) and (2) (A) (1) =7for (2)

(B) (2) and (3) (B) (2) mfur (3)
(C) (3) and (4) (C) (3) 3fur (4)
(D) (1) and (4) (D) (1) AT (4)

82. Which one of the following is the | 82. Wciiciyeh! TUMHA fITATUMTHAR hHToT
‘Areal’ aspect of the basin as per the T WR O Wew IR ?
Morphometric analysis ? (1) SR B
(1) Drainage density @) fromeR Ui
(2) Bifurcation ratio .

(3) Stream frequency (3) WA STt

(4) Circularity ratio @ _O@WW T
(A) (1) only (&) (1)

(B) (2), (3) and (4) B) @, @) i (@)
(C) (1) and (3) only (C) (1) =M (3) e
(D) (1), (3) and (4) D) (1), (3) AT (4)

83. Altimetric frequency analysis | 83. S=adIudd IRRAl foveioor © He&ud:
is mainly carried out to | e LS JuEE B S
understand ..........ccceuuee.e.

(A) TUERU Yo3
(A) Erosional surfaces
(B) Levelling (B) Heaer
(C) Depositional surfaces (C) framm 73
(D) Area at particular altitude (D) fafyre S<teadar &
40 Okd0
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84. Match List-I with List-II and select

the correct answer from the codes

JUN - 36225/II—A

84. -1 ARI-IT A= Se Jeoad Wt

Hehahid arg @ e

given below : T 1
List I (gaTqF‘ﬁ'q Ffa"ﬁ)
(Climatic Characteristics) @ &
(@) Keen ®) T
(b) Raw ©
(¢) Muggy @ e
(d) Scorching ardt 11
List II
(Position in Climograph) (1)@:2-“1:[ @ )
(1) Top left SThS
(2) Top right (2) T SIS
(3) Bottom right (3) el SRS
(4) Bottom left (4) @l STHS
Codes : Hehelioh :
(@ B) © (@ (@ B © (@
Aa @ @O @ 3 A 2 @O @ B
B) @ B @ @ B @ B3 @ @
e & O 2 @ e & 1 2 @
D @ B QO @ O @ 3 @O @

85. Which of the following is/are most | 85. TRl 9a-fameg AT SRifvaEe!
suitable diagram for representing WA IV TR/ T
the age-sex structure of population ? S TR 3TRd 2
(1) Pie diagram (1) fawfSa ages st
(2) Pyramid diagram (2) ﬁﬁ'\q—s’ Tt
(3) Dot method (3) fas =ehrem
(4) Triangular graph (4) feprlt s
(A) Only (1) (A) % (1)

(B) (1) and (2) only (B) (1) eufor (2) e
(C) Only (2) (C) K (2)
(D) (1), (2) and (3) D) (1), (2) =7for (3)
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86. Polar flattening is determined by | 86. & T fAgor g e
USsing ...ooveveveeenen. ETGISIH
(1) Equatorial radius (1) foreexita e
(2) Polar radius (2) yg&a o=
(3) Polar axis (3) Y=g et
(A) Only (1) (A) e (1)
(B) Only (2) (B) F (2)
(C) Only (1) and (2) (C) e (1) i (2)
(D) Only (2) and (3) (D) w1 (2) T (3)
87. Whiclh one of the follgwing is an 87 EeiE FE GHAE YA oY ?
equal area projection ? .
(A) Cylindrical projection (A) = e
(B) Conical projection (B) IR TEI
(C) Bonne’s projection (C) a=d F&ao
(D) Mercators projection (D) THT T
88. Ilf a;gzgolidjav;n oilhthe R. F. = 88, WX THEWM FTTFE. = 1 : 50,000
: 50, ut when the same map > .
is redrawn on R.F. = 1 : 2,50,000. —_— ﬁ?o,?(% j:[ Hm 3:;;
The status of redrawn new map is: T T e TR ot & o/ -
(A) Reduced by 5 times (A) 5 9 H A
(B) Reduced by 2.5 times (B) 2.5 92 Al Bsd
(C) Enlarged by 5 times (C) 5 92 WA dlea
(D) Enlarged by 2.5 times (D) 2.5 9 S dled
89. Arrange the following in | 89. @aﬁamﬁmﬁrﬁﬁmﬂhw
chronological order from oldest to T 3TelTeheiet el 3T THIcIshH HISuT
recent with reference to their 4 :
formation : (1) SRaeht gad
(1) Aravali Mountain (2) IFHT T4
(2) Deccan Trap Tt
(3) Shillong shelf Ei; o Fn
(4) Eastern Ghat
Option : vt
A @2 3 1 @ A @2 6 O @
B 1O 2 3 @ B @ @ 6 @
e @O @ B @ ©c @O @ Q) (@)
D & @O 2 @ D 3 @O @ @
42 akd0l
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90. Which one of the following is not a | 90. WU vl ST TEeh JoTe =
part of the Aryan rock system ? T AR ?
(A) The Dharwar system (A) ¥NETS TS Foeil
(B) The Gondwana system (B) TiedH TrEsh Horredl
(C) The Jurassic system (C) e TeHh FUIe
(D) The Cretaceous system (D) frdfaers wreF womel
91. Match the terms List-I with their | 91. W-IHW-HWWWW
location in List-II selecting the SEIEAGRI g g3tg feer
correct answer from the given codes : a1
List I (Y@ =T )
(Major Tiger Reserves) @ TR
(a) Sariska ®)
(b) Periyar
() AHYgdn
(¢) Namdhapa
d) =
(d) Bori et
II
List II
(1) Kerala 1) %
(2) Arunachal Pradesh 2)
(3) Madhya Pradesh (3) HEAHSRI
(4) Rajasthan (4) TSTE
Codes : Hendich :
(@ b)) ©© (@ (@ b)) © @
A @ 3 @ @ A @ & @ @
B @ @O @ O B @ 1O @
< O B 2 @ e @O & @2 @
D @ @ @O @ D B @ @1 @
43 [m] =]
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92.

93.

94.

Which of the following state is not
a part of CBIC—(Chennai-Bengaluru

Industrial Corridor) ?

(A) Kerala

(B) Karnataka

(C) Andhra Pradesh

(D) Tamil Nadu

Which of the following is not an

example of antecedent river ?
(A) Kosi

(B) Satlyj

(C) Brahmaputra

(D) Tapi

Assertion (A) : Indian offshore and
deep sea fish catch is very poor.

Reason (R) : Indian coast does not
have many gulfs, bays, estuaries
and backwaters.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

92.

93.

94.
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TTATAdHT HIo/d T § CBIC
(ATE-STerE Sirefith S=18s) =1 9m
& ?

(A) @

(B) wlesh

(C) FgwRN

(D) dfHeS

WA IO &1 Jaiadi JehTee
TR ?

(A) =it

(B) Hdetst

(C) sr=g=n

(D) drdt

faeam (A) : WRAde sae S e
HHSIA WY GhSUATE YHIU A hHT
3TTe.

HRUT (R) : YR fhaamer S,

IUANR, TTS! 37T TSl Hicgdl THI

BRI

Hehdich :

(A) T (A) 9 (R) 31 {H (R) ©
(A) ¥ I TR B

(B) 3T (A) 3 (R) 319 Ted g (R)
T (A) 9 Irg TSROl @l

(C) (A) TgF e g (R) T I 8
(D) (A) I 38 g (R) § 3F ¢
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95.

96.

97.

A tripartite memorandum of
understanding (MOU) for Ken-Betwa
link project was signed between
which states and ministry of water

resources ?

(A) Uttar Pradesh and Madhya
Pradesh

(B) Madhya Pradesh and
Chhatisgarh

(C) Madhya Pradesh and
Rajasthan

(D) Madhya Pradesh and
Jharkhand

‘Kalahandi’ in Odisha is best known
for which of the following mineral

production ?
(A) Mica
(B) Bauxite
(C) Copper
(D) Uranium

River ‘Luni’ originates from which

of the following location ?
(A) Pushkar Valley

(B) Gurushikhar Hills
(C) Banaskantha Valley
(D) Jarga Hills

95.

96.

97.

JUN - 36225/11—A
AU HIOT T A0 FTereo<t

AATAATAT LM HA-d2al SArevit
Seheurardt el wrHse #IR Sheten
Ae ?

(A) ST 0T HEAHERT

(B) HeAURY M0 BRIATS

(C) weyael fur Trsreer

(D) TAYRT A IRES

eI HATRIS! WeATeTdeh! HIoT
TSl AR Js 3T ?

(A) 3AYh

(B) e

(C) i

(D) F=H

EeAeden! IV foahTomees 't &t
ST qEd ?

(A) TR @R
(B) TERTER Tehe

(C) sFhIal Bk
(D) S Shedl
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98.

99.

Which one of the following

statement is incorrect about Indian

foreign trade ?

(A) The largest volume of exports
is to USA

(B)

The largest volume of imports

is from Saudi Arabia

India’s trade deficit is maximum

with China

©

(D) Engineering goods are the
leading export commodity in

terms of value

Which of the following statement is

not true for Narmada river ?

(A) Narmada river basin is spread
over Madhya Pradesh and
Gujarat

(B) The tributaries of Narmada are

short and join the mainstream

at almost right angle

(C) Narmada rises in Amarkantak

hills and flow eastward

(D) Narmada flows through deep

gorge near Jabalpur

98.

99.
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qRaren faesl SR Hewid Eeiiaient
HI0d faum sErg e ?

(A) JTHAT. & Hin FHOMER 7t
=Id

(B) Wt SR Hiean FHIveR ST
B

(C) =HFeRIeR IR ARG Faliesh
R

(D) ATHIFRT HEM B Jedre @WEa
aifeh frafd wRORT 9% 3T

WIAtsh! IV e Feer 7t deufa

AT AR ?

(A) THS TEH @R HHAYRY & oM
Y famre ome

(B) THST EI=AT UG HHT STAA
AR o A &I TRE HERMM
fHesara

(C) T T STREH IY IH qE
9 Yolshe dTEd

(D) FHeT 7t SoBYX STeies Tl S

(feriqm) amed
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100. Match List-I and List-II and select 100. A1 o 21T T STTST Sfodef T e fe
the correct answer from the codes HehdTh T RUCECE CAECEINE
given below : ey 1
List I (ﬁg—&r)
(Mountain Pass) (@) wFEE
() Banihal (b) ST
(b) Baralach
) Baralacha © fage
(¢) Lipulekh .
P (d) <rafeen
(d) Bomdila
RIC |
List II
(SireuTit f3amTot/wasm)
(Connecting Places/Region)
(1) 9l 9 o8

(1) Manali and Leh

(2) TEUTEAYRY § faee
(2) Arunachal Pradesh and Tibet

(3) SH 9 iR

(3) Jammu and Srinagar

_ (4) TwEE 9 faee
(4) Uttarakhand and Tibet

Codes : oA
@ ® © @ @ & © @
A ©2 1) @ 3 A @ @O @ O
B & 1 @ @ B & 1 @ @
© DL @ 3@ @ © O @ B @
D @ @ @ O D @ @ @ @
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